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1. ?E@%é%%&%%ﬁbiﬁéb\o Factorize the following expression. 2. %@i%%&%gébfﬁéb\o Factorize the following expression.
fiE (x+y)P+3(x+y)+2 Pl xt— 5%+ 4
@
(x+y)=Ars xt = A s
(x+y)+3 (x+y)+2 x'—5 2’ +4
= A’ +3 A2 = A5 A+
= (A+7)(A+2) = (A—7 ) (A—1)
= {(x+y)+7 }{(x+y)+2} = (x"—7 )(x?—21 )
= (x+y+7 )(x+y+2) = (x+7 )(x—7 )(x+2)(x—2)
b EN b EN
M (x+y)P+3(xt+y)—4 HiE x'—10x* + 9
@
%J%iﬁ 2(x+y)2+3(x+y)+1
@
( X+ y ) = AbsL 3. ?;’; @%é & %&%gé L fcﬁ é A0S Factorize the following expression.
2 W
2(xty)yds (wty)tr FlE x®+3xy —2x+2y—y—3
_ 2
= 2ATT3 AT =+ (3y—2)x+(2y—3)(y+7)
= (2 A+7 A+7
(2 A+ )(a+7) Sx 2y 3 ) Hx (v 7))
= (2x+2y+7 )(x+y+7) —
HE x+2xy —x+ 9y —y—6
B 2(x—y)2+5(x—y)+2
@
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1. ROXLEZHBMOEL 72X\ Yo Factorize the following expression. 2. WOXZEHERMHOEEL 7p X ° Factorize the following expression.

nwrEn nwrEn

N

il (x+y)P—4a(x+y)+3 flE xt—2a +1
®(x+y)Agme xt = A s
(x+y)—4(x+y)+3 x'—2 %% 47
= A'—4 A+3 = A*'—2 A+7
= (A—7)(A—-3) = (A—7 Y
= {(xty)—7 (e ty)-3 ] = (=7 )
= (x+y—7)(x+y—3) = (x+7 ) (x—7 )
E%(x—yf+w—y)—6 B xt— 84 + 16

Bl s(x+y)P+da(xty)+1
@
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3. WOXEZTREHMAEL I\, Factorize the following expression.

2 W En
3 (xty)t(xty)+i fE x®+xy—4x—2y2+y+3

(x+y)=ArsL

_ 2
= 3 A +4A+T = M (y —4)x (25 —y—3)

= (3A+7 ) (A+7) = x't(y —4 )x—(2y—-3)(y+7)

= {3 (x+y)tr H{(x+y)Er ) = {x+(2y—3 ) {x—(y+7)}

= (3x+3y+7 ) (x+y+7)

= (x+ 2y -3 )(x—y—7)

HATEN . 2 - TR
bs 3(x—y)'+10(x—y)+3 W 22+ 5x— 2+ y+ 6
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Factorize the following expression.

2.

Wi m

Sl
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Factorize the following expression.

B s3a+5xy+b5x+2y +3y—2
=3+ (s y+s)x+(2y" +3y—2)
=3 x'+(sy+s)x+(2y—7)(y+2)
={sx+(2y—7){x+(y+2)}

=(3x+2y—7)(x+ y+2)

3><(2y1)ﬁ2y1 3><(y+2)

(y+2) —3y+6 17 M(2y-1) —6y—3

- y+ 2

5y+ 5 Ty—1

bATEWN 9 9
ME 2x°+5xy+2y° —3y — 2

@®

HA TN 9

HE 24— Txy+3x+3y2+ y—2
@

bATE D

HEE 4x?— 4x— y2+ 1

@

nwnEn

piE a®(b+c)+b*(ate)+c®(atb)+ 2abec

:(b—i—c)a2 +(b2—|—2 be+c? )a +(b2c—|—bc2 )
:(b—i—c)a (b—l—c)(b—i—c)a+(b—|—c)bc
=(b+c){a+(b+c)a+ be}
=(b+c)(at+b)(a+c)
:(a—i-b)(a—i— )(b—i—c)

bAEW

1 A ab(a+b)+bc(b+c)+ca(c+a)+3abc

©)

FmE x*— 10x2+ 9
() (o)
=(x—7)(x+7)(x—3)(x+3)

MR xt— 522+ 4

)

?ﬁLJ:?%LE 2+ 1 X%’E’Q ijﬁ
=(x'+2 x4/ )— &
:( 24 ) 2
:( 2+x+/)(x~x+/)

FlE xt+ 32+ 4

®
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Factorize the following expression.

WA T B pn
Factorize the following expression.

foi s (x2+3x)2 —2(2a2+3x)— 8
x'4+3 x =Ars
(x*+3 x)* —2 (x*+3 x) —¢
= A'—2 A—¥¢

= (A+2)(A—1)

(x’4+3 x4+2 )(x*+3 x—4)

= (x+7 ) (x+2 ) (x+4 )(x—7)

foi s (&2+x—4)(22+x+1)+6

X4+ x = Arsik

X't x —4 ) (xPtx A+ )+

A—4 )(A+7)+6

A?—3 A—4 ) +6 = AP—3 A+2
A=2)(A=1)

'+ —2 )(x*+x—7 )

(
(
(
(
(
(

x—7 )(x+2 )(x’+x—7)

AT

HEOD (x> —x )P +3(x2—x)—10

—8(x%+ x) + 12

i D (x2—2x —4)(xa*—2x+2)+5

o o+
<

Ia

I <
S

(x2—x+2)(a2—x—1)+2
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Bl 3x2+xy—Tx—2y24+3y+2 12>V TEZ K,

Answer about 3 x2+x y—7 x—2 y2+3 y+2 .

W x e >N THE~x o I o &,

Arrange in order of descending powers of x.

3 a2 +(y—7 )xt (29 435+2)

Cid) Tl &

QxD2W X3 2+xy—Tx—2y2+3y+2 =10
B 72 S,

Solve the quadratic equation for x, 3 x2+x y—7 x—2 y2+3 y+2=0.

b cV y—7) 4 x 3 x(—2 y 43 yt2)
2 X3

X

(—y+7 )£V 25 y2 —50 y+25
6

(—yt+7 ) =V 25 (y =1 )
6

(—y+7 ) £5 (y—7)
6

(—y+7 ) +5 (y—7)

—6 y+/2
= =—y+2

2y+7

I-T, x = P , —y+2

WhT 5 B
B)3x2+xy—Tx—2y2+3y+2 % K/t X,
Factorize 3 x2+x y—7 x—2y2+3 y+2.

32 +xy—7 x—2 y*+3 y+2

F )

—(sx—2y-7)(xty—2)

HATEN

ol
ME 3x2+7xy+5x—6y2—Ty—2I1Z >V T& =z X,
) LA R AN
DxIZHOVWTHERZO A ITEEY L,

CiE)sTwnL &

QxD 2R X 3x2Z+Txy+5x—6y2—7y—2 = 0
L
ERRE IR E 0,

VAT B A

I '
3)3x2+Txy+b5x—6y2—Ty—2 % K& /mfEH X,
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BIE 6x2—5xy+5x—6y2—y+1IZ >V TEZ K,

Answer about 6 x2—5 x y+5x—6 y2*y+1 .

W x e >N THE~x o I o &,

Arrange in order of descending powers of x.

6 22 +(—5 y+5) x+(—6 y2—y+7 )

Cid) Tl &

QxD2WGFFEX6x2—F5xy+5x—6y2—y+1 =0
EARE S,

Solve the quadratic equation for x , 6 x2—5 x y+5 x—6 y2—y+1=0.

—(—sy+5) £V (—syt5) —xx(—by?—y+7)

X =
2 %6
C(5y—5)=E vV 169 32 —26 y+7
- 72
7(5y~5)i\/(/3y~/)2
- 72
C(sys)E(3y—1)
- 72
(sys)+(3y—7)
Y 72
B 18y —6 B 3y —/
- 72 T2
(sys5) —(3y—1)
Y 72
B —&y —4 B —2y—7
T - 3
B 3y —/7 —2 y—/
I-T, x = ) s 3

WA TS
(B) 6 x2—5 xy+5x—6y2—y+1 % Ry MEE XL,
5xy

Factorize 6 x2—

b x*—5 xy+5 x—b y2—y+/

e ()

—(2x—3y+7)(3xt2y+7)

+5x—6 y2*y+1 .

HATEN

ol
ME  6x2+4xy+x—2y2—3y—1lZ >V TEZ X,
) LA R AN
DxIZHOVWTHERZO A ITEEY L,

CiE)sTwnL &

QxD2WFHFFEX 6x2+4xy+x—2y2—3y—1= 0
x2S,

AT R

5 5o
3 6x2+4xy+x—2y2—3y—1 % KNy MRE X,

>
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Answer about 3 x2+7 x y+9 x—6 y2+5y+6 .

W x e >N THE~x o I o &,

Arrange in order of descending powers of x.

3 x2 (7 y+9 )t ( —6 y2+5 y+6 )

Cid) Tl &

@QxD2WIFEKX32+Txy+9x—6y2+5y+6 = 0
&
R X IR E 0,

Solve the quadratic equation for x, 3 x2+7 x y+9 x—6 y2+5y+6.

(799 £V (7y+9) —ax3x(—by2 L5y L)

X =
2 % 3
C(ry9)= V127 y? 466 y+9
- 6
7(~7y~9)i\/(//y+3)2
- 6
C(ry9) =11y +3)
- 6
(—7y—=9) +(77y+3)
x:
6
B 4y —b B 2y—3
T RE
(—7y-9) —(17y+3)
x =
6
 —rty—12
= 2 =—3y—2
2 y—3
bt x =0, —3y—2

WAT IS ADn

B)3x2+T7Txy+9x—6y2+5y+6 % NI gt X,

Factorize 3 x2+7 xy+9 x—6 y2+5y+6 .

3 x24+7 xy+9 x—6 y*+5 y+6b

(e ()]

= (sx—2y+3)(x+3y+2)

HATEN

ik
ME  2x2+3xy—x—2y2+8y—6IlZ >V TE Z K,
9 Lwh R AN
D x OV TENZONE ICEEE L,

CiEHs Tl &

QxD2WFHFFEX 2224+3xy—x—2y2+8y—6= 0
x2S,

>

AT R

5 5o
3 2x2+3xy—x—2y2+8y—6 % [Ny fitd k.







